Grade 12 Essential

Quiz Debrief




GRADE 12 ESSENTIAL

WEEKLY QUIZ WEEK 7 Name:

Date:

Closed book. However, use your and/or my Study Notes [Cheat Sheet].
You are expected to have your own Study Notes for the Final Exam

Each individual question is worth two marks 1
U e se’aw:. ¢

Show work, show method. Do not use media, apps or google!
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Diagrams are not necessarily drawn in exactly correct scale or proportion.

should NOT have to say this everytime!
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Seems to be strongly 'locking in marks' for
some students and others not taking

advantage?



Do Question 1 or 2 below but not both.
If you do both the better one will be marked

1. Determine length a and ZC
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2. Determine length a and £C OPTIOVA) = Bdm B
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3. Given the regular pentagon at
right determine:
a. the sum of all the interior D

angles. S0 G

b. the measure of the vertex
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Do Question 4 or 5 below but not both.
If you do both the better one will be marked

4. For the irregular octagon at right
determine the number of diagonals
that would cut across it from vertex

to vertex. J
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5. A 7-sided heptagon is inserted in
a Star Blanket. Determine the

measure of the central angle a.
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Do Question 6 or 7 belc;j; bl]t not both.
If you do both the better one will be marked

Om(-|

6. Word Problem. A farmer has 65 animals; pigs and chickens. She
forgets how many she has of each animal but she does remember they
have a total of 206 legs. Determine how many chickens the farmer has.
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Some wild waysthat students do this. Have done this maybe 15 times since September




7. Word Problem. Three hot dogs plus one coke cost you $9.25. Your
friend buys three hot dogs and two cokes and spends $10.25. Determine
the price of a hot dog.

OMG, have done this a dozen times

’ too!
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7. Word Problem. Three hot dogs plus one coke cost you $9.25. Your
friend buys three hot dogs and two cgkes and spends $10.25. Determine
the price of a hot dog. pyi,:e o

OMG, have done this a dozen times

n‘t P i LE &, l'\ll'tOlU e
Ji_.* \J bhe ";:-cce 01] Cokr Guess and Check??

Logic?
Draw it?

There are more reliable and expeditios ways to 1,00
solve this type of problem of course. Go to end
of the movie if you care.



MULTIPLE CHOICE
Circle the letter of the best or closest answer
8. An isosceles triangle has: S

neo
a. no sides the same length —1 3¢z Ii 7
b. all three sides the same length — Et"bti {a".ﬁrﬁ!
c. all three angles congruent —

at least two sides the same length



9. A twenty-sided polygon [ an ‘lcosagon’] would have this many diagonals
cutting across it:

a. 21 b. 170 c. 20° d. 20*19=2380
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each corner can shoot out a line to (n-3) other corners.
There would be n*(n-3) lines. But half of them would be

duplicates! So divide by two!




10. The monthly loan payment for a loan of $8,600 for 5 years at 10%
interest would be: [ rounded to nearest $10 ] [Use loan tables or an App or

website if you know how]

(a. $180 ) b. $460 c. $4,300 d. $430
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Monthly Vehicle Loan Payments
per Thousand Borrowed

Years to Repay Loan

Interest H
Rate 1 2 3 4 5 6 7

4.00% $85.15| $43.42| $29.52| $22.58| $18.42| S$15.65| $13.67
4.25% $85.26| $43.54| $29.64| $22.69| $18.53| S$15.76| $13.78
7.50% $86.76| $45.00| $31.11| $24.18| $20.04| $17.29| $15.34
8.00% $86.99| $45.23| $31.34| S$24.41 L $17.53| $15.59
10.00% $87.92| $46.14| $32.27| $25.36[ $21.25| /518.53| $16.60
15.00% $90.26| $48.49| $34.67| $27.83| $23.79| $21.15| $19.30
20.00% $92.63| $50.90| $37.16| $30.43| $26.49| $23.95| $22.21
25.00% $95.04| $53.37| $39.76| $33.16| $29.35| $26.94| $25.31




BONUS QUESTIONS (2 marks each)

A. Determine the sum of the counting numbers from 1 to 25
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B. There is about three weeks till the final exam. Determine how many
seconds in three weeks.
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ine the mean, median, mode, and range of the data set:
; 7, 20,78, 19,157
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7. Word Problem. Three hot dogs plus one coke cost you $9.25. Your
friend buys three hot dogs and two cokes and spends $10.25. Determine

the price of a hot dog.
P 9 OMG, have done this a dozen

times too!
Guess and Check??
Logic?
Draw it?



Do Question 6 or 7 below but not both.
If you do both the better one will be marked
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6. Word Problem. A farmer has 65 animals; pigs and chickens. She
forgets how many she has of each animal but she does remember they

have a total of 206 legs. Determine how many chickens the farmer has.
Guess and Check for most Essential Students?
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Some wild ways that students do this. Have done this maybe 15 times since September



